Award Worksheet

Purchasing Entity: Shelby County Schools

2275 Bid ID:

Bid for Central Nutrition Center

Description: Category: 2017 Summer Feeding Supplies Bid - KT

05/01/2017 **Effective Start Date:** Effective End Date: 08/31/2017 Awarded:

Bids Due By: 03/14/2017 11:00 AM **Bids Sealed Until:** 03/14/2017 11:00 AM Run Date: 3/15/17 4:29 pm

Vendor Summary Information

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
All American Poly		1% 10, Net 30	1,075.0000
American Paper & Twine Company	For your acceptance up to 60 Days.	Net 30 Days.	84,563.1500
Daxwell	MOQ per ship LOT requested in the bid: B10001967-50cs per shipment B10001522-300cs per shipment 14 Days Lead Time Per PO	Net 30 Days	12,673.0000
Form Plastics Company			73,080.0000
Housekeepers Supply			40,470.0000
Plastic Connection Inc.		N-30	45,230.0000
Plastic Package, Inc.			102,211.5000
Preferred Packaging	lead time is 2-4 weeks from date PO is received. 175 roll combined for freight	Net 30	50,326.3000
Sigma Supply Inc.	5 Days	Net 30 Days	51,607.5000
Sysco Memphis, LLC.	7-14 DAYS ARO	NET 14 DAYS	17,520.0000
The Platinum Packaging Group			48,090.0000
US Foods		EOM 10	58,305.0000
Wallace Packaging, LLC	10 days ARO	Net 30	15,000.0000

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted i 1	items found fo	r the selected criteria. Item #: 5019 Boxes, Corrugated, 24x19x13 Manufacturer & Part Number:	1 - 125.0000 Each Bundle GP/IP/APT - 241913	American Paper & Twine Company	162.5000	250	40,625.00			
		Quoted as Spec'd: Yes		Product Number: 967471						
		Item Notes: Total 250 Bundles Bidders must notate: Brand, Pro Response Item Notes: 125/bnd	oduct Code, Pack Size and	Yield/Unit						
		Item #: 5019 Boxes, Corrugated, 24x19x13	1 - 125.0000 Each Bundle	Sigma Supply Inc.	165.0000	250	41,250.00			
		Manufacturer & Part Number:	Gibson Container	Due does Normalism 5040						
		Quoted as Spec'd: Yes	. Not 20 Days	Product Number: 5019						
		Response Item Payment Terms Response Item Notes: % Days	: Net 30 Days							
		Response item Notes. % Days								
2		Item #: 5021 Boxes, Corrugated, 19x16x13 Manufacturer & Part Number:	1 - 125.0000 Each Bundle Gibson Container	Sigma Supply Inc.	122.5000	75	9,187.50			
		Quoted as Spec'd: Yes		Product Number: 5021						
		Item Notes: Total 75 Bundles								
		Bidders must notate: Brand, Pro		Yield/Unit						
		Response Item Notes: 5 Days								
		Item #: 5021 Boxes, Corrugated, 19x16x13 Manufacturer & Part Number:	1 - 125.0000 Each Bundle GP/IP/APT - 191613	American Paper & Twine Company	131.2500	75	9,843.75			
		Quoted as Spec'd: Yes		Product Number: 967472						
		Response Item Notes: 125/bnd								

Line Lot Number Code	Item Description Item #: 5023 Film Wrap, Polypropylene, Logo, Color Printed Manufacturer & Part Number: Quoted as Spec'd: Yes Item Notes: Total 350 Rolls	Purchase Unit 1 - 6000.0000 Foot Roll Interplast - OT-NC0	Product Number: 8ACL	Bid Price 119.0000	Response Quantity 350	Total Price 41,650.00	Pending Award Quantity	Pending Award Total	Pending Award
	Bidders must notate: Brand, Pr Response Item Payment Terms Response Item Notes: Interplas NEEDED SONNER PLEASE C.	s: N-30 st/Polypropylene, Logo, Col	d Yield/Unit lor Printed/46.5/LBS A ROLL 6,000	0' \$119.00/RL 4 TC	O 6 WEEKS L	EAD TIME IF			
	Item #: 5023 Film Wrap, Polypropylene, Logo, Color Printed Manufacturer & Part Number:	1 - 6000.0000 Foot Roll	The Platinum Packaging Group Group - 5-2000-100-290-SCS	126.0000	350	44,100.00			
	Quoted as Spec'd: Yes	Flatillulli Fackagilig	Product Number: Platinum CX1	100					
	Response Item Payment Terms	s: 1% net 10, 30 days	Froduct Number. Fraumum CA	100					
		•	h						
	Response Item Notes: 20" x 6000' 100g 45 LB/RL, \$2.80/lb								
	Item #: 5023 Film Wrap, Polypropylene, Logo, Color Printed Manufacturer & Part Number:	1 - 6000.0000 Foot Roll	Preferred Packaging Packaging - Shelby 5023	130.5100	350	45,678.50			
	Quoted as Spec'd: Yes	interplace i referred i	Product Number: Shelby 5023						
	Response Item Payment Terms	s: Net30	1.32221123311 011010, 0020						
			O is received. 175 roll combined fo	or freight.					
	The state of the s								
4	Item #: 5031 Film, Lidding, Polyester, Dual Ovenable, Logo, Color Printed & Laminated.	1 - 5100.0000 Foot Roll	Plastic Connection Inc.	179.0000	20	3,580.00			
	Manufacturer & Part Number:	Dupont - 50LFPA-10							
	Quoted as Spec'd: Yes		Product Number: 5GCA						
	Item Notes: Total 20 Rolls.								
	Bidders must notate: Brand, Pr Response Item Payment Terms		d Yield/Unit						
	Response Item Notes: IF YOU	ORDER 5023&5031,THEN	COST OF 5031 DROPS TO \$169	9.00 A ROLL.					

Line Lot Number Code	Item Description	Purchase Unit	Vendor EKS LEAD TIME IF NEEDED SC	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 5031 Film, Lidding, Polyester, Dual Ovenable, Logo, Color Printed & Laminated.	1 - 5100.0000 Foot Roll	The Platinum Packaging Group	199.5000	20	3,990.00			
	Manufacturer & Part Number:	Platinum Packaging G	roup - 5-1038-050-690-SCS						
	Quoted as Spec'd: Yes		Product Number: GPG 50						
	Response Item Payment Terms	: 1% net 10, 30 days							
	Response Item Notes: 10.375"	k 5100', 21 LB/RL, \$9.50/lb							
	Item #: 5031 Film, Lidding, Polyester, Dual Ovenable, Logo, Color Printed & Laminated.	1 - 5100.0000 Foot Roll	Preferred Packaging	232.3900	20	4,647.80			
	Manufacturer & Part Number:	DuPont/ Preferred Page	ckaging - 50LFPA 10.375						
	Quoted as Spec'd: Yes		Product Number: 50LFPA 10.3	75					
	Response Item Payment Terms								
	Response Item Notes: lead time	e is 2-4 weeks from date PC	is received. 175 rolls combined t	for freight.					
5	Item #: 5041 Fork Kit Manufacturer & Part Number:	1 - 1000.0000 Each Case Daxwell - B10001967	Daxwell	10.3400	50	517.00			
	Quoted as Spec'd: Yes		Product Number: B10001967						
	Item Notes: Total 50 Cases								
	Bidders must notate: Brand, Pro		Yield/Unit						
	Response Item Notes: 14 Days	Lead Time MOQ per ship L	OT requested in the bid: B10001	967-50cs per ship	ment				
	ltem #: 5041 Fork Kit Manufacturer & Part Number:	1 - 1000.0000 Each Case Wallace	Wallace Packaging, LLC	12.0000	50	600.00			
	Quoted as Spec'd: Yes		Product Number: 6405						
	Response Item Payment Terms	: Net 30							
	Response Item Notes: 1000 per	case 10 days ARO							

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
6		Item #: 5042 Spork Kit	1 - 1000.0000 Each Case	Daxwell	10.1300	1,200	12,156.00			
		Manufacturer & Part Number:	Daxwell - B10001522							
		Quoted as Spec'd: Yes		Product Number: B10001522						
		Item Notes: Total 1200 Cases								
		Bidders must notate: Brand, Pro		Yield/Unit						
		Response Item Notes: 14 Days	Lead Time Per PO MOQ pe	er ship LOT requested in the bid:	B10001522-300c	s per shipmen	t			
		Item #: 5042 Spork Kit Manufacturer & Part Number:	1 - 1000.0000 Each Case Wallace	Wallace Packaging, LLC	12.0000	1,200	14,400.00			
		Quoted as Spec'd: Yes		Product Number: SPKS-1000						
		Response Item Payment Terms	: Net 30							
		Response Item Notes: 1000 per	case 10 days ARO							
		Item #: 5042 Spork Kit Manufacturer & Part Number:	1 - 1000.0000 Each Case Daxwell - B10001522	US Foods	13.7400	1,200	16,488.00			
		Quoted as Spec'd: Yes		Product Number: 6841258						
7		Item #: 5048 Garbage Can Liners Manufacturer & Part Number:	1 - 100.0000 Each Case All American Poly	All American Poly	10.7500	100	1,075.00			
		Quoted as Spec'd: Yes		Product Number: 3339-MAAP						
		Item Notes: Total 100 cases								
		Response Item Payment Terms	: 1%10, Net 30							
		Item #: 5048 Garbage Can Liners Manufacturer & Part Number:	1 - 100.0000 Each Case Novolex (formerly Her	American Paper & Twine Company itage)	16.4900	100	1,649.00			
		Quoted as Spec'd: Yes		Product Number: 042143						
		Response Item Notes: 100/cs.	1.25 mil.							

Line Number	Lot Code	Item Description Item #: 5066	Purchase Unit 1 - 36.0000 Each Case	Vendor Sigma Supply Inc.	Bid Price 0.6500	Response Quantity 1,800	Total Price 1,170.00	Pending Award Quantity	Pending Award Total	Pending Award
O		Tape, Polypropylene, Transparent, 2" x 110' Manufacturer & Part Number:	Powerband	зідтіа зирріу тіс.	0.0300	1,000	1,170.00			
		Quoted as Spec'd: Yes		Product Number: Stranflex 160						
		Item Notes: Total 1800 Rolls								
		1.6 MIL plus								
		Bidders must notate: Brand, Pro Response Item Payment Terms		Yield/Unit						
		Response Item Notes: 5 Days								
		Item #: 5066 Tape, Polypropylene, Transparent, 2" x 110' Manufacturer & Part Number:	1 - 36.0000 Each Case Shurtape - AP 101	American Paper & Twine Company	0.7100	1,800	1,278.00			
		Quoted as Spec'd: Yes	Shurtape - AP 101	Product Number: 047846						
		Response Item Notes: 36 rl/cs		Froduct Number: 047040						
9		Item #: 5067 Dispenser, Heavy-Duty, Packaging Tape Manufacturer & Part Number:	1 - 1.0000 Each Case BSN - 16463	American Paper & Twine Company	4.7600	15	71.40			
		Quoted as Spec'd: Yes		Product Number: 042243						
		Item Notes: Total 15 Each								
		Bidders must notate: Brand, Pro Response Item Notes: Compara								
10		Item #: 5071 Two Cell Lunch Tray: Material minimum 14 mil OPS Heat sealable Manufacturer & Part Number:	1 - 750.0000 Each Case Form Plastics - xxxx-	Form Plastics Company	42.8100	1,300	55,653.00			
		Quoted as Spec'd: Yes		Product Number: xxxx-148500						
		Item Notes: Total 1300 Cases								
		Bidders must notate: Brand, Pro Response Item Notes: \$67.95/N		Yield/Unit 8/cs/plt, Lead time 6-8 weeks fron	n receipt of purch	ase order.				

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 5071 Two Cell Lunch Tray: Material minimum 14 mil OPS Heat sealable Manufacturer & Part Number:	1 - 750.0000 Each Case Plastic Package, Inc.	Plastic Package, Inc.	73.3500	1,300	95,355.00			
		Quoted as Spec'd: Yes	-	Product Number: 3392						
		Response Item Payment Terms	: Net 30							
11		Item #: 5072 Plate, Disposable, 10 inch, 3-Compartment. Molded Fiber Product. Manufacturer & Part Number:	1 - 500.0000 Each Case Chinet - 25777	American Paper & Twine Company	32.6600	400	13,064.00			
		Quoted as Spec'd: Yes		Product Number: 900003						
		Item Notes: Total 400 Cases								
		Bidders must notate: Brand, Pro	oduct Code, Pack Size and	Yield/Unit						
		Item #: 5072 Plate, Disposable, 10 inch, 3-Compartment. Molded Fiber Product.	1 - 500.0000 Each Case	Housekeepers Supply	36.2000	400	14,480.00			
		Manufacturer & Part Number: Quoted as Spec'd: Yes	CHINET	Product Number: #25777						
		Item #: 5072 Plate, Disposable, 10 inch, 3-Compartment. Molded Fiber Product.	1 - 500.0000 Each Case	US Foods	55.4800	400	22,192.00			
		Manufacturer & Part Number:	Pactiv - MC50044000	2						
		Quoted as Spec'd: Yes		Product Number: 3908720						
12		Item #: 5079 Trays, Hinged, Disposable, Three Compartment.	1 - 200.0000 Each Case	Sysco Memphis, LLC.	10.2000	200	2,040.00			
		Manufacturer & Part Number:	Sysco/ Pactiv - YTD-1	88G3000						
		Quoted as Spec'd: Yes		Product Number: 7548946						

Line Lot Number Code	Item Description Item Notes: Total 200 Cases	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Bidders must notate: Brand, Pro		Yield/Unit						
	Item #: 5079 Trays, Hinged, Disposable, Three Compartment. Manufacturer & Part Number:	1 - 200.0000 Each Case Pactiv - YTD18803E0	American Paper & Twine Company	10.5100	200	2,102.00			
	Quoted as Spec'd: Yes		Product Number: 900001						
	Response Item Notes: 150/cs								
	Item #: 5079 Trays, Hinged, Disposable, Three Compartment.	1 - 200.0000 Each Case	US Foods	11.3500	200	2,270.00			
	Manufacturer & Part Number:	Pactiv - YTD1M80300	000						
	Quoted as Spec'd: Yes		Product Number: 7804594						
	Response Item Notes: 150 ct pa	ack size							
	Item #: 5079 Trays, Hinged, Disposable, Three Compartment.	1 - 200.0000 Each Case	Housekeepers Supply	15.3500	200	3,070.00			
	Manufacturer & Part Number:	ECOPAK	Due door Normbon, #DE002						
	Quoted as Spec'd: Yes	200/00	Product Number: #RE883						
	Response Item Notes: Packed 2	200/CS							
13	Item #: 5088 Tray, Meal, One Compartment, Dual Ovenable. Black.	1 - 1100.0000 Each Case	Plastic Package, Inc.	97.9500	70	6,856.50			
	Manufacturer & Part Number:	Plastic Package, Inc.							
	Quoted as Spec'd: Yes Item Notes: Total 70 Cases		Product Number: 3108-8						
	Bidders must notate: Brand, Pro		Yield/Unit						
			e; case price at 900/case is \$97.9	5/case.					
	-	•••	•						

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 5088 Tray, Meal, One Compartment, Dual Ovenable. Black. Manufacturer & Part Number:	1 - 1100.0000 Each Case Form Plastics Compa	Form Plastics Company	116.1800	70	8,132.60			
		Quoted as Spec'd: Yes	r cim r lactice compe	Product Number: 6027-404539						
		Response Item Notes: \$105.62	/M, min order is pallet qty -							
		•		•						
14		Item #: 5126 Disposable, 9" x 9" x 3", White Foam, 3-Compartment, Hinged Container. Manufacturer & Part Number:	1 - Count Sysco/Pactiv - YTD1	Sysco Memphis, LLC. M9030000	10.3200	1,500	15,480.00			
		Quoted as Spec'd: Yes	,	Product Number: 7551324						
		Item Notes: Total 1500 Cases								
		Bidders must notate: Brand, Pro		l Yield/Unit						_
		Item #: 5126 Disposable, 9" x 9" x 3", White Foam, 3-Compartment, Hinged Container.	1 - Count	American Paper & Twine Company	10.6200	1,500	15,930.00			
		Manufacturer & Part Number:	Pactiv - YTD19903E0	CON						
		Quoted as Spec'd: Yes Response Item Notes: 150/cs		Product Number: 900005						
		Item #: 5126 Disposable, 9" x 9" x 3", White Foam, 3-Compartment, Hinged Container.	1 - Count	US Foods	11.5700	1,500	17,355.00			
		Manufacturer & Part Number:	Pactiv - YTD1M903	Des less Nevel 700404						
		Quoted as Spec'd: Yes		Product Number: 7804644						
		Response Item Notes: 150 ct pa	ack size							

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 5126 Disposable, 9" x 9" x 3", White Foam, 3-Compartment, Hinged Container. Manufacturer & Part Number:	1 - Count ECOPAK	Housekeepers Supply	15.2800	1,500	22,920.00			
		Quoted as Spec'd: Yes		Product Number: #RE993						
		Response Item Notes: Packed	200/cs							
15		Item #: 5090 Tray, Meal, Two Compartment, Dual Ovenable, Black. Manufacturer & Part Number:	1 - Count Form Plastics Compa	Form Plastics Company any - 6267-404539	116.1800	80	9,294.40			
		Quoted as Spec'd: Yes		Product Number: 6267-404539	1					
		Item Notes: Total 80 Cases								
		Bidders must notate: Brand, Pr Response Item Notes: \$105.62								